A∞Ω Math@TD	<b>K T NA</b>	ME	SOLUTIONS	MCR3U – F15
MCR3U	- Integer and Rational Exponents Quiz (Formative)			
Provide clear solutions to the following 10 questions. Write your answers on separate lined paper (provided).				
1.	Evaluate. Express your answer in rational (fractional) form. $(-3)^{-4} = \frac{1}{(-3)^4} = \frac{1}{80}$		K/1	
2.	Evaluate. Express your answer in rational form. $(9.78^{-1}x^2y^{-6})^0 = 1$		T/1	
3.	Simplify. $m^2 n^3 (m^3 n^2)^2 = m^2 n^3 (m^6 n^4) = m^8 n^7$		K/2	
4.	Write as a single power, then evaluate. $\sqrt[4]{81^3} = ((81)^{1/4})^3 = 3^3 = 27$		K/2	
5.	Simplify the expression. Express your answer with positive exponents $\frac{m^{-4}n^{-6}}{mn^{-8}} = m^{-5}n^{2} = \frac{n^{2}}{m^{5}}$	s.	T/2	$n^2 = \frac{n}{m^3}$
6.	Simplify the expression $\left(m^3 n^{-2}\right)^{-2} \left(m^6 n^{-4}\right)^{\frac{1}{2}} = \left(m^6 n^{-4}\right)^{\frac{1}{2}}$	(m'n-	<sup>2</sup> ) <sub>T/3</sub>	
7.	Simplify the expression. Express your answer with positive exponents $\left( \left( \begin{array}{c} c \end{array} \right)^{3} \left( \begin{array}{c} s \end{array} \right)^{\frac{1}{2}} \right)^{\frac{1}{2}} = \left( \begin{array}{c} c \end{array} \right)^{\frac{1}{2}} \left( \begin{array}{c} c \end{array} \right$	s.	T/4	

 $\left(\frac{(x^{6})^{3}(y^{-8})}{(2x)^{4}(y^{3})^{2}}\right)^{2} = \left(\frac{x^{4} \cdot y}{16x^{4} y^{6}}\right)^{2} = \left(\frac{x^{4}}{16y^{4}}\right)^{2} = \frac{x^{4}}{4y^{7}}$ 

K/3

8. Simplify the expression. Express your answer with positive exponents.

$$\frac{\sqrt{81z^{16}}}{\sqrt{100z^{-4}}} = \frac{9z^8}{10z^{-2}} = \frac{9z^{10}}{10}$$

9. Simplify the expression. Express your answer with positive exponents.

$$\left(\frac{\left(a^{5}b^{-2}\right)^{-1}\left(a^{6}b^{7}\right)}{\left(a^{-2}b^{-3}\right)^{-2}}\right)^{2} = \left(\frac{\left(a^{-5}b^{2}\right)\left(a^{6}b^{2}\right)}{a^{4}b^{6}}\right)^{2} = \left(a^{-3}b^{+3}\right)^{2} = \frac{b^{6}}{a^{6}}$$

K/4

10. Simplify the expression.  $\frac{\sqrt[3]{-j^{6}k^{24}}}{\sqrt[4]{j^{-8}k^{12}}} = \frac{(-j^{6}k^{24})^{\frac{1}{3}}}{(j^{-8}k^{12})^{\frac{1}{4}}} - \frac{-j^{2}k^{8}}{(j^{-8}k^{12})^{\frac{1}{4}}} = -j^{4}k^{5}$